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Oxygen Radical Absorbance Capacity
(ORAC)

~

2,2'-azo-bis(2-amidinopropane) N|
dihydrochloride (AAPH) - )X%N N 2ol
(a water-soluble azo free radical) ‘N

B

NaO. 0 o
; ; : - ‘ Ex/Em : 485/ 535 nm

Sodium Fluorescein - poSiit e
Trolox HO o
(a water-soluble -
derivative of vitamin E) e}

Antioxidants inhibit the oxidation of fluorescein by
hydrogen atom transfer
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Fluoresceln non-fluorescent product
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Trolox



1.2

ORAC ASSAY

Make necessary test compound dilutions in Assay
Buffer ,

\J
Prior to assay, warm plate chamber to 37°C, Add 40 pLfluorescein
prepare fluorescein working solution and trolox 501““011/
standards. 4

[ e &

\
Add 40 pL/well fluorescein solution(60 nM) to
blank assay plate.

Add 40 pl standards

| or sary)les

\J ¥
Add 40 pL/well trolox standards or test samples to *
fluorescein containing Wellls.

A Add 120 ul. AAPH
Prepare AAPH solution. Add 120 pl./well of AAPH solution
working solution(12.8 mM) and place assay plate <

g : H

in plate reader. Begin kinetic fluorescence read.
Excitation= 485 nm; Emission=538 nm.
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2. ‘;"'P'-‘,f DPPH ( o,0-diphenyl-B-pricrylhydrazyl ) p o fit 4 B2




